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B Absolute Maximum Ratings Ta = 25°C
Parameter Symbol Rating Unit
Collector-Base Voltage VcBoO 40 Vv
Collector-Emitter Voltage VCEO 20 V
Emitter-Base Voltage VEBO 5 \Y
Collector Current -Continuous Ic 1.5 A
Collector Power Dissipation Pc 0.5 W
Junction Temperature Tj 150 C
Storage Temperature Tstg -55 to 150 C
W Electrical Characteristics Ta = 25°C
Parameter Symbol Test conditions Min | Typ | Max | Unit
Collector-base breakdown voltage V@BR)cBO |Ic= 1001 A, IE=0 40 \
Collector-emitter breakdown voltage V@BR)cEO |Ic= 1mA, 18=0 20 40 \%
Emitter-base breakdown voltage V(@BR)EBO |IE= 100 11 A, Ic=0 5 \Y
Collector cut-off current Iceo |Vee=40V, [E=0 0.1 UA
Emitter cut-off current leeo |VeB =5V, Ic=0 0.1 uA
) Vce= 1V, Ic= 100mA 160 320
DC current gain hre
Vce= 1V, Ic= 800mA 40
Collector-emitter saturation voltage VCE(sat) |lc=800mA, IB= 80mA 0.5 \%
Base-emitter saturation voltage VBE(sat) |lc= 800mA, Ie= 80mA 1.2 \
Output capacitance Cob |VcB= 10V,lE=0,f=1MHz 20 pF
Transition frequency fr Vce= 6V, lc= 20mA ,f=30MHz 100 MHz
B Marking
Marking D882
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B Typical Characteristics
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